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Q1. What is the difference between the largest five digit number and the smallest four digit
number?

A. 100,999 B. 99,999
C. 98,999 D. 10,000

Correct Ans: C
Q1. giT 3l FT e T8 F&AT 3R TR 3P HT e B TE&AT F T 747 W] §?
A. 100,999 B. 99,999

C. 98,999 D. 10,000

Correct Ans: C

Q2. How many times is 1728 divisible by 12?

A. 20736 B. 150

C. 144 D. 0.6944
Correct Ans: C

Q2. 1728 F 12 ¥ frcelt IR 137 FhaT 51 Wehal &2

A. 20736 B. 150

C. 144 D. 0.6944

Correct Ans: C

Q3. If 73 is added to the square of a number the answer is 539. What is the number?
A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q3. I} 73 A vF FEAT F ot F Y ST AT § @ 3ea< 539 ¥ T FEAT FAT §?

A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q4. What is the square root of 256/144?

A. 4/3 B. 3/4
C. 16/9 D.1
Correct Ans: A

Q4. 256/144 T TiH 741 §?

A. 4/3 B. 3/4



C. 16/9 D.1

Correct Ans: A

Q5. In 2009, a school had 1500 students. In 2010 it experienced a 12% growth in student’s
enrollment and it is expecting a further growth of 5% in 2011. Based on these figures, how
many students can the school expect to enroll in 2011?

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q5. 9% 2009 #, TF T # 1500 ST &1 2010 , T7 oH & gaw # 12%a;1%§§3ﬁta52011#5°/oah
wfaRea gfe a1 1 3mem #31 @ §1 37 st & IMUR W, 98 THa 2011 7 et S get Y 3mem #X ¥ 82

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q6. A dress available for Rs. 1500 is now available for Rs. 1200. What is the discount that the
shop is offering on the dress?

A. 20% B. 25%
C. 30% D. 15%

Correct Ans: A

Q6. 1500 F9& FY TF NATFH 3 1200 F9X H 3A §| GF GaRT 37 N T et ge & 31 @ 82
A. 20% B. 25%

C. 30% D. 15%

Correct Ans: A

Q7. What is the probability that when a coin is tossed three times successively the outcome
would be three tails?

A. 15% B. 16.66%
C. 12.5% D. 33.33%

Correct Ans: C

Q7. TF RAFH F diF IR ITTa I AMAR el I HT IRONA fAerar Y Fa= waregar 82

A. 15% B. 16.66%
C.12.5% D. 33.33%

Correct Ans: C

Q8. When two dice are thrown what is the probability that a total of 5 will not appear?
A.7/9 B. 8/9

C. 6/9 D. 5/9

Correct Ans: B

Q8. S« & giHT Y HehT AT § dF SHY Fhda) THTTAT & 7F 5 FT AT Yhe A8 grom?

A.7/9 B. 8/9



C. 6/9 D. 5/9

Correct Ans: B

Q9. Ram buys 25 books at Rs. 10 each. If he sells the books at Rs. 300, how much profit does
he make on each book?

A. 25% B. 30%
C. 15% D. 20%

Correct Ans: D

Q9. TH 10 39 YA+ & BHT & 25 fFae Gliedr §1 3P ag 3« fFdmE! F1 300 394 & I9d1 § d) 98 TAF fhaa
TR FRdeTT I FATTI?

A. 25% B. 30%
C. 15% D. 20%

Correct Ans: D

Q10. From a bag of 100 balls, Ridhi takes one tenth of the balls and Siddhi takes one third of
what is remaining. How many balls did Siddhi take?

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q10. 100 e F v e & W, NIY A F cwd st7er Y Awrera ¢ 3k R vh-ReE omr 7 AFed 1 RS
fohraet At &) forewTem &2

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q11. Find the odd-one out in the following:

Copper, Aluminum, Oil, Lead
A. Copper B. Aluminum
C. Oil D. Lead

Correct Ans: C

Q11. Ar=afaf@a # ¥ RvA AT F:

aran, sefafaas, o,
A. dreT B. srafaferas
C.dd D. drar

Correct Ans: C

Q12. Find the odd-one out in the following:

Mercury, Venus, Mars, Sun
A. Mercury B. Sun
C. Venus D. Mars



Correct Ans: B

Q12. Arafaf@a # ¥ RvA AT F:
T, %, o,
A. g B. g

N

C. U D. Harer

Correct Ans: B

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Bank: Money:: Sun: ?
A. Round B. Heat
C. Moon D. Dark

Correct Ans: B

Q13. 77 Faiss RFew i St 7o 7o ¥ sffcasa @9y F Areey Gay F waiss yffcafFa war g

dF : e gF ?
A. M B. T
C. dgaT D. 3{¢R

Correct Ans: B

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Bed sheet: Bed:: Curtain: ?
A. Table B. Pillow
C. Window D. Computer

Correct Ans: C

Q14. TF T RFew Iy St 7o 7o ¥ sfficaaa @9y F Areey way F waiss FffcafFa war e:

9T @ TAdT 12 TST ¢ ?
A. A B. afsar
C. fasér D. el

Correct Ans: C

Q15. Find the missing term: 83, 82, 84, 81, _, 80
A. 85 B. 86
C.79 D. 87
Correct Ans: A

Q15. Jvd ¥EAT AT Hifae: 83, 82, 84, 81, _, 80

A. 85 B. 86



C.79 D. 87

Correct Ans: A

Q16. If the MECHANIC is called the DOCTOR, DOCTOR is called the PILOT, PILOT is called the
HERO, HERO is called the DANCER, and DANCER is called the DRIVER, who will prescribe
medicine for illness?

A. HERO B. PILOT
C. DANCER D. MECHANIC

Correct Ans: B

Q16. I AF@AF F) sTaFeT FeT AV, S(FeR FI IIIAC FgT ST, YA F ERY Fgl AT, TR FY ST Fal T 3K
STAT Y SFAX gl ATC ar AN F fore gt 1 Ader i &am?

A, ERY B. 9_Ieic

C. 3+ D. Axfasw

Correct Ans: B

Q17. If the TAILOR is called the MASON, MASON is called the ARCHITECT, ARCHITECT is called
the JOURNALIST, JOURNALIST is called the MINISTER and MINISTER is called the PRIEST,
who will stitch clothes?

A. MASON B. TAILOR
C. ARCHTECT D. MINISTER

Correct Ans: A

Q17. I it Y TR FeT AT, TR FY TETHFR FgT AT, TAFTHR HT TIHR FgT AT, TIRR T 7:A Fe1 ¢ 3R
3 P g1l FET AT A FiA F92 [A?

A. TR B. gaif

C. aEIHR D. &

Correct Ans: A

Q18. In a different coding system MERCENARY is coded as ZREPRANEL, how is RACEME coded
as?

A. ENPRRZ B. ENRPRZ
C. ENRPZR D. ENPRZR

Correct Ans: D

Q18. af& v A % yorrelt # MERCENARY # ZREPRANEL ¥ 7 & Feag far smar § af RACEME &Y 3
Feag fHar sream?

A. ENPRRZ B. ENRPRZ

C. ENRPZR D. ENPRZR

Correct Ans: D

Q19. In a different coding system VACATION is coded as 21310954, how is NOTATION coded
as?

A. 45010954 B. 45001954
C. 45001195 D. 45010945



Correct Ans: A

Q19. If wF A== Fe Jurelt # VACATION #I 21310954 & w7 # Feag a1 Irar § af NOTATION &t &3
Feag fFar Seam?

A. 45010954 B. 45001954
C. 45001195 D. 45010945

Correct Ans: A

Q20. From the four answer choices, find the missing element in the question figure to
complete the series.
Question Figure

) - B. .
’ .|
Correct Ans: D

Q20. H@aT F [ FA F AT weet arpfar F e wrpfa F 3eaw F IR el F § A
W HT

) . B. .
’ .|

Correct Ans: D



Q21. Firewalls cannot provide:

A. protection against viruses originated B. protection against unauthenticated interactive logins
from infected USB flash drives

C. protection against network-borne D. None of the options
attacks

Correct Ans: A

Q21. FRIET Ig g HEAT FI Fhell 8

A. 3=t USB Welel 315d § 3o Tl dRRE B 3TYATIONT SeXfded ellergel & Fat
e
C. Aicash-alel gHel & gt D. 3uFd & @ H1$ fasheq et

Correct Ans: A

Q22. What does the term “"DMZ"” in computer networks stand for?
A. Database Manage Zone B. Demilitarized Zone
C. Data Militarized Zone D. Database Migrate Zone

Correct Ans: B

Q22. FY AcaFd H “DMZ” 9g &1 F41 HfAWT 8?2

A. 3EET HAST ST B. R3ffciicses Sl
C. 3reT fAelierses A D. Sy ABIC Sl

Correct Ans: B

Q23. Examples of system software includes:
A. Operating systems B. Utility programs
C. Compilers D. All of the options

Correct Ans: D
Q23. RAFeH WFEAAT &F Igmevn A afAe §:

A. 3iTRfEe feea B. g&ferdr v

C. FFuBad D. 3uded @it faehed

Correct Ans: D

Q24. Which of the following user interface you need to open to uninstall a program from your
Windows 8 system?

A. Internet Explorer B. Control Panel
C. Windows Explorer D. Recycle bin
Correct Ans: B

Q24. 39+ Windows 8 f¥es & fFlt fiams &t sreigela & fav, smve! frafaf@a siqar gor sadw @ea
# T §?

A. 3CTEIT THFATARY B. sherer Yol



C. T3 taaea® D. Rarssed foet

Correct Ans: B

Q25. An attribute or a combination of attributes in one table whose values must either match
the primary key in another table or be null is called

A. Secondary Key B. Super key
C. Candidate Key D. Foreign Key

Correct Ans: D

Q25. UF a9 F AT & TieAE AT WIeHeH F1 FirdAeed, SudT 3o v 31+ & # WSAd - 1 & awra} gt
AT AT e FHeAT AT, Fgelra g

A. sl & B. g &I
C. F3rsT &y D. %Rl &1

Correct Ans: D

Q26. Identify the odd one.

A. Monitor B. Printer
C. Speaker D. Keyboard
Correct Ans: D

Q26. fayaA i ggu M|

A. FiefteX B. e

C. T D. #-d18

Correct Ans: D

Q27. A USB protocol is a channel.
A. Simplex B. Half-duplex
C. Full-duplex D. Both simplex and half-duplex

Correct Ans: C

Q27. T USB WHid T Ao B
A. facaFd B. gTh-3gColed
C. Pol-ggoled D. fivererd 31X gTh-3gcelerd, arat

Correct Ans: C

Q28. The distance between the affects the size of the projected contents on an
LCD projector.

A. Projector and wall B. Projector and screen

C. Projector and audience D. None of the options

Correct Ans: B

Q2s. F @7 1 gft v LCD Mot W 9aifia amvet & wser 1 wenfaa &l
A. dreteel AR &ar B. WisieFey 3R whiet



C. HioigeX 3R g D. 3uFd & @ HS fashoq et

Correct Ans: B

Q29. The security provided by Internet Protocol Security (IPsec) work at:

A. Transport layer B. Network layer

C. Application layer D. Session layer

Correct Ans: B

Q29. $TT WiHia RAFARE (IPsec) ZaRT HIAT F§ T arelt RAFANE FaT W F1o7 Fch §:
A. TEAIE R B. cas ol

C. Toollhele o D. 32T oRR

Correct Ans: B

Q30. Wireless Protected Access 2 (WPA2) security authentication is commonly used on:
A. Ethernet B. Bluetooth
C. Wi-fi D. All of the options

Correct Ans: C

Q30. IHGK T, IRRAT TRefFes taq 2 (WPA2) RFANE Ard=dhereT Fgl W sTAATT /T SATaT 8-

A. 3TT B. sy
C. a8-%Ts D. 3uded @it faemed

Correct Ans: C

Q31. An attack which makes the computer resources unavailable to its intended users is
called

A. Denial-of-service attack B. Virus attack
C. Worms attack D. Botnet process

Correct Ans: A

Q31. T 3T I FYET RAHF F 30F T oIt & AT e]erets a1 e ¥, Fgorar &
A. fEaraer-3iTe-afdd e B. aRRY 3¢
C. aFg 3% D. Sicaie I ad

Correct Ans: A

Q32. is considered as a "Scareware” as it forces users to pay a fee by scaring or
intimidating them.

A. Spam B. Adware

C. Spyware D. Ransomware

Correct Ans: D

Q32. N TF "FIAIT” A AT ¢ FAF TE TH B STR AT YAFH 0F B o= F AT 378 Aorqy
FaT ¢

A. TOH B. TgaIX



C. TURAR D. WwEHAIN

Correct Ans: D

Q33. The act to obtain confidential information from a user by falsifying their identity is called

A. Computer virus B. Spyware scam
C. Phishing scam D. None of the options

Correct Ans: C

Q33. TFH I TgAT # F-I FF TIH & I AT IS I FT Fed FgelTe g
A. FIT IRH B. TUIISITX ThaeA
C. fofRIer T D. 39dwd # & 1S fAshed w181

Correct Ans: C

Q34.1In C++, is the syntax used to access data members of an object.
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q34. C++ ¥, Te Rtaw ¢ S 0 avq & 31T AFAY B AW A & v gEaATe R S g
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q35. In Java, is the range of "byte" data type.
A.-128 to 127 B. -32768 to 32767
C. -2147483648 to 2147483647 D.-1to +1

Correct Ans: A

Q35. JTar A, “aEe” 3TeT <8y AT I gl
A.-128 T 127 B. -32768 & 32767
C. -2147483648 @ 2147483647 D.-19 +1

Correct Ans: A

Q36. Which is NOT a computer peripheral?
A. Tape drive B. Motherboard
C. Microphone D. Light Pen

Correct Ans: B

Q36. 3 § FIeT /T & FTIT NI 781 82

A. 29 g18d B. AcIaIS
C. #ATSHIBIT D. oIS U



Correct Ans: B

Q37. Which is the temporary memory that provides high-speed data access to a processor?
A. Random Access Memory (RAM) B. Cache

C. Read Only Memory (ROM) D. Flash

Correct Ans: B

Q37. 37 TURY AR T W & S v TR A g1$-FiT ST TFAW HeA;T FAAH §?

A. 5H taad AART (RAM) B. Cache

C. 313 31Tl A% (ROM) D. woier

Correct Ans: B

Q38. Which one can generate images to a computer monitor?
A. Sound card B. Video card

C. Expansion card D. Modem

Correct Ans: B

Q38. 3 A FIT W 0F FTYX Al F fAT FAT FAeike FT Thell 82

A. €138 @18 B. difsar #r5

C. TagYerT HIS D. #isH

Correct Ans: B

Q39. Which of the following is a strong password?
A. 29thSeptember88 B. Bangalore88
C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D
Q39. Arafaf@a #ia a1 v aFdax THas §?
A. 29thSeptember88 B. Bangalore88

C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D

Q40. X*(Y.Z)=(X*Y).(X*2) is the:
A. commutative property B. distributive property
C. associative property D. identity property

Correct Ans: B

Q40. X*(Y.Z)=(X*Y).(X*Z) &:

A. FepRa sradt B. Redieafea sadt
C. wenfaeRa st D. 3mSR st

Correct Ans: B



Q41. Which of the following user interface allows you to create files and folders in Windows 7
operating systems?

A. Windows Explorer B. Internet Explorer
C. Recycle Bin D. Basic Input/output system (BIOS)

Correct Ans: A

Q41. RFfaf@d i a1 IgR $exhw H39F v FEls 7 i Rven & et 3k Brestt # a1 w3rg F3ar §?

A. [&3Ie TermTaRT B. Selaic TFATARY
C. Rassd foa D. 3f@% g+4e/3m3eqe faFea (BIOS)

Correct Ans: A

Q42. Layer between the computer hardware and user is called as
A. Device driver B. Keyboard
C. Operating System D. Monitor

Correct Ans: C

Q42. FYLT FTEAAT 3N o & g i W ¥ FET 1T B
A. f3aEg 3R B. fr-a1s
C. 3itRfeer e D. Alsiex

Correct Ans: C

Q43. As the processes are loaded and removed from the memory, the free space in memory is
broken into scattered pieces. This process in operating system is called

A. Mapping B. Segmentation
C. Paging D. Fragmentation

Correct Ans: D

Q43. 3« AR # NI F1 s T AR gerar srar § @ AR F sTeey B FF @y ge gt 7 ¥ S B
Frfeer Rees & a8 WAw Fgarar gl

A. AT B. aHeT
C. ufSer D. ShaHeerd

Correct Ans: D

Q44. You have to review and make revisions to your team's project report in MS Word 2010
and provide a feedback. Which of the following features of MS Word 2010 should you use?

A. Auto Summarize B. Track Changes
C. Compare and Merge documents D. Mail Merge

Correct Ans: B

Q44. 3TIH 9= & F disige RAE T MS Word 2010 # Reg w3 3R 383 I wautes w3 §1 3196 MS
Word 2010 &1 RFafaf@d Fid a1 FeR sEdATT FI31 afge?

A. Auto Summarize B. Track Changes

C. Compare and Merge Documents D. Mail Merge



Correct Ans: B

Q45. You want to send a Word document as an email attachment. Which of the following
commands in Word 2010 would help you to perform the requirement?

A. Save & Send B. Print
C. Save As D. Save

Correct Ans: A

Q45. 31T TF TS STagAT FI $AW HETAC & T F A0 96 81 95 2010 F Frafaf@a sl @ w1z 78 4 7=
& 9P A FLN?

A. Save & Send B. Print

C. Save As D. Save

Correct Ans: A

Q46. Which combination of keys will you use to write the subscript 2 in X2 in MS Word 2010?
A. Press Alt and = B. Press Ctrl and =
C. Press Shift, Alt, and = D. Press Alt, Shift, Ctrl and =

Correct Ans: B

Q46. 3R MS Word 2010 & X2 # 2 # gafewce & f@a § v Rrafaf@a e geat # s arg seae
FAT TIfge?

A. Alt 3R = I gamET B. Ctrl 3iR = = garer

C. Shift, Alt, 3R = I gare D. Alt, Shift, Ctrl 3iR = &I garer

Correct Ans: B

Q47. In your document, the review pane appears vertically. What will you perform to display
it horizontally?

A. Click View -> Reviewing Pane -> B. Click Review -> Show Markup -> Review Pane Horizontal
Review Pane Horizontal

C. Click Review -> Reviewing Pane -> D. Click Review -> Reviewing Pane -> Review Pane Horizontal
Review Pane Vertical

Correct Ans: D
Q47. 3Tu% siFgHc H review pane Hur @t @ & 16T §1 31T FAT F arfF T 13T orwn$ w032

A. View -> Reviewing Pane -> Review B. Review -> Show Markup -> Review Pane Horizontal @t
Pane Horizontal &I fFeleh &L e el

C. Review -> Reviewing Pane -> Review p, Review -> Reviewing Pane -> Review Pane Horizontal &'
Pane Vertical & Fcleh &3 e w0

Correct Ans: D

Q48. What will be the output of, = Count B1:B99 in an MS Excel 2010 document?

A. Count is an invalid function. B. Counts the number of cells B1 through B98 that contains
numbers.

C. #NULL! appears in the respective cell. D. Counts the number of cells B1 through B99 that contains
numbers.



Correct Ans: C
Q48. MS Excel 2010 3/Fg#Hc # = Count B1:B99 FT H13¢Ye FAT g2
A. Count Teh 37T HFel &l B. B1 ¥ olahY BI8 e Hed I IUTAT T ¢ foletdl HE&ATd Hisg 8l

C. Haftd qoT 7 #NULL! Yehe g1l B D. B1 & ol B99 T Hed & 01T el & foleidl HEATT HISG &1

Correct Ans: C

Q49. What will be the output of =SUM (C2:C8) in MS Excel?

A. Displays the sum of cells C2 through B. Counts the number of cells.
C8 that contains numbers.

C. Displays the sum of cells C1 through  D. NULL appears in the respective cell.
C7 that contains numbers.

Correct Ans: A

Q49. MS Excel # =SUM (C2:C8) FI 3T3¢Yc F4T 1?2

A. C2 @ AT C8 cell deh its fe@rar & fS@d  B. el Ao T T&dm T fAetelt e &1
HE&AT AHG &

C.C1LA AR C7 Ued doh AT I3 fg@rar g D. T I & NULL Wehe grar g
et s Ay &

Correct Ans: A

Q50. You want to arrange the data in column A in ascending order. Which of the following
command would you use in MS Excel 2010?

A. Sort B. Filter
C. Consolidate D. Group

Correct Ans: A
Q50. ITT HIeTHA A & STeT T IRE FH F AT I8d &1 3T MS Excel 2010 & Fia W FATS TIATT FLa?
A. Sort B. Filter

C. Consolidate D. Group

Correct Ans: A

Q51. What will you do to insert a formula in Microsoft Excel 2010?

A. Choose the New command from the B. Select the cell, type = sign and then type the formula.
File menu and enter the formula.

C. Select the cell and type the formula. D. Select the cell, type + sign and type the formula.

Correct Ans: B

Q51. ATHIAFE T 2010 F TF HioeT S7HE FIA & [T T FAT FN?

A. File A= & New command & Io3aTT 3R B. qel T AIFE Fell, = T FAeeT 5T e AR T Blefer ersa
I VT el T

C. T HT HoiFe FYT IR BIACT BT FET D, T &l Holde FLAT, + &l (e T8 el AN Bioel eTq HAT

Correct Ans: B



Q52. How will you add a new slide in PowerPoint 20107?

A. On the Home tab, click New Slide. B. On the Insert tab, click New Slide.
C. On the Slide Show tab, click New D. On the Design tab, click New Slide.
Slide.

Correct Ans: A
Q52. 3T H{ yraicarse 2010 H T AF TABS H AZA?
A. Home &§ WX New Slide W el eam B. Insert ¥ WX New Slide W &l aam

C. Slide Show ¢& X New Slide W & D. Design ¢& X New Slide W & FTam
hal

Correct Ans: A

Q53. How will you view a PowerPoint 2010 presentation in slide show view?

A. On the Slide Show tab, click From B. On the Slide Show tab, click Start -> Broadcast Slide Show.
Beginning.
C. On the File tab, click Print. D. On the File tab, click Save.

Correct Ans: A
Q53. H# 3T UF qraRcarse 2010 YiuT FY o153 of o 7 @a?

A. Slide Show & W From Beginning W  B. Slide Show && WX Start -> Broadcast Slide Show W Fals
[EGEXcTo) HLAT

C. File 5 9T Print W Fel& ST D. File 3§ WX Save W ol HLar

Correct Ans: A

Q54. The online travel portal, MakeMyTrip, is headquartered in which city?
A. New Delhi B. Mumbai
C. Gurugram D. Chandigarh

Correct Ans: C

Q54. JiadTse Taa N, AFASRYT FT HEATT Fd WeT # 82
A. 71 el B. H{a$

C. %aH D. =grTe

Correct Ans: C

Q55. Which of the following is a woman freestyle wrestler who won India's first ever gold
medal in wrestling at the Commonwealth Games in 2010?

A. Babita Kumari Phogat B. Geeta Phogat
C. Priyvanka Phogat D. Ritu Phogat

Correct Ans: B

Q55. farfaf@a i ag aften Preema Fecdars ¢ O 2010 & wsgasa @al #F IR F7 37T aF TgoT Faof TGF
Shrar 82

A.aﬁmgmfrqﬂm B. 3frar weme



C. Tz wiare D. §iq wieme

Correct Ans: B

Q56. Haryana State was formed in which year?
A. 1965 B. 1954
C. 1960 D. 1966
Correct Ans: D

Q56. ﬁr&ra&ﬁgﬂ'awnmﬁmgéﬁ?

A. 1965 B. 1954
C. 1960 D. 1966

Correct Ans: D

Q57. What is the full form of NTPC, one of India's largest energy Company?
A. National Thermal Power Corporation B. Northern Territories Power Corporation
C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A
Q57. R &I U HGH T9Y FAT F9eit, NTPC &7 I A1 F4T §?
A. National Thermal Power Corporation B. Northern Territories Power Corporation

C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A

Q58. What is the full form of NASSCOM?

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services
Services Companies Companies

Correct Ans: A
Q58. NASSCOM T X1 ATH &7 82

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services
Services Companies Companies

Correct Ans: A

Q59. Name the first Chief Minister of Haryana?

A. Shri. Manohar Lal Khattar B. Shri. Bhagwat Dayal Sharma
C. Shri. Bansi Lal D. Shri. Bhajan Lal

Correct Ans: B

Q59. RO F vEe HET HA FT ATH TAA?

A. 3 FAG oTel WX B. AT s19Tad &rel QAT



C. Y §41 ofel D. #ff #1311 oTel

Correct Ans: B

Q60. IBM has its headquarters in which city in India?
A. Gurugram B. Mumbai
C. Hyderabad D. Bengaluru

Correct Ans: D

Q60. R # fFH e & IBM FT FE&ATT 82
A. TBITH B. Has
C. geXeTg D. STc®

Correct Ans: D

Q61. What is the expansion of HTTPS?

o8]

A. HyperText Transfer Protocol Social . HyperText Transfer Protocol Security
C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q61. HTTPS T qof &7 T §?

vy

A. HyperText Transfer Protocol Social . HyperText Transfer Protocol Security
C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q62. Maruti Suzuki has its production facility in which of the following places?
A. Manesar B. Faridabad
C. Bhiwani D. Sonipat

Correct Ans: A

Q62. faraifaf@a frw srere W el gt 1 FrR@m 32
A. HATE B. w{lcreTe
C. foarir D. Gisfiad

Correct Ans: A

Q63. Virender Sehwag's Cricket Academy and School is located in which district of Haryana?
A. Gurugram B. Bhiwani
C. Rohtak D. Jhajjar

Correct Ans: D
Q63. g & fFa e & dRew wgawT fhdhe wheH! AR FRer Ry 82
A. eI B. f@areh

C. Vgd=s D. ST

Correct Ans: D



Q64. Who is Anita Kundu?
A. She is a Writer B. She is an Olympic athlete
C. She is a Wrester D. She is a Mountaineer

Correct Ans: D

Q64. fadr F3 Fi 82

A. 98 Ts af@e § B. 98 U Haf@des vy §
C. a8 Us Frcharst § D. I8 T JddRIE &

Correct Ans: D

Q65. In which city is the Indian Institute of Management (IIM), located in Haryana?
A. Faridabad B. Gurugram
C. Rohtak D. Chandigarh

Correct Ans: C

Q65. IO F fFW AET F ARAT yaua U (IIM) Rua @2
A. weTETe B. IR

C. Jgds D. d8Tg

Correct Ans: C

Q66. The Central Institute for Research on Buffaloes is located at?
A. Hisar B. Chandigarh
C. Mahendragarh D. Sirsa

Correct Ans: A
Q66. ¥ A FTHTT FEAT Fel U §?

A. AR B. TdNTe
C. AgeaiG D. fazar

Correct Ans: A

Q67. Haryanvi language is written in script.
A. Pallava B. Devanagari
C. Brahmi D. Kaithi

Correct Ans: B

Q67. gRITOTT #TeT FY el & oG Srar §1
A. Jeordl B. ¢a=ATIRY
C. SgAT D. &Y

Correct Ans: B

Q68. The Munshi Gumani Lal Award is presented for excellence in which field?



A. Shooting B. Athletics
C. Literature D. Handicraft making

Correct Ans: C

Q68. it AT AT TEFER e & #F 3cgeear 8 JaT o e §2

A. femsieTsit B. Vereifear
C. aifgcq D. Rreq fAaAToT

Correct Ans: C

Q69. Saina Nehwal, India's ace badminton player, was born in?
A. Chandigarh B. Hisar

C. Hyderabad D. Panipat

Correct Ans: B

Q69. ST AgaT, Wﬁﬂ'&%ﬂgﬁﬁmwe}m?iﬁ?

A. TErTg B. feaR

C. e D. 9reiaa

Correct Ans: B

Q70. The first battle of Panipat was fought in which year?
A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q70. grua Y ggell 31§ Fa a1 & o) a1 A2

A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q71. Badkhal Lake, near Faridabad, is fringed by which mountain range?
A. Aravalli Range B. Vindhya Range
C. Satpura Range D. Hindu Kush

Correct Ans: A

Q71. WEHEE & IIH d5&e el fFa gddaATen & fhar W Ry 82
A. 3RTEel JadHTET B. faear qdaaTer
C. FART GETATST D. fég Fr

Correct Ans: A

Q72. Which river that flows through Haryana originates from Dagshai in Himachal Pradesh?
A. Ghaggar River B. Yamuna River

C. Ganges River D. Chenab River



Correct Ans: A
Q72. RATI Y& H 391N ¥ 37T HIA arelt i W A4 gRIom & F T8 82
A. T39R 7T B. I 77E

C. I3 7Y D. JeATe ST

Correct Ans: A

Q73. Who took oath as the Chief Justice of Punjab and Haryana High Court in August, 2016?
A. Justice Ajay Kumar Mittal B. Justice Surya Kant
C. Justice SS Kairo D. Justice S Jal Vazifdar

Correct Ans: D

Q73. 39Fd, 2016 F frua dorra 3R g 37w =TT ¥ AET gt & § 7 quy ger Hr 2
A. =g 35T FAR Bcdor B. Fara#fd g #id
C. =R T8 TH D. #Ar I TH Siel doiiher

Correct Ans: D

Q74. Who is popularly known as the "Haryana Hurricane"?
A. Irfan Pathan B. Ashish Nehra
C. Kapil Dev D. Virender Sehwag

Correct Ans: C

Q74. I "gRION FRFA" F AH ¥ AHRT §?

A. STHTT T3TeT B. 3reNW oig’T
C. &iel &a D. dReg HgamT

Correct Ans: C

Q75. The brand ambassador for "Beti Bachao Beti Padhao" campaign in Haryana is?
A. Sakshi Malik B. Deepika Padukone
C. Priyanka Chopra D. Geeta Phogat

Correct Ans: A

Q75. gRmom # "a& TEmst A g A ¥ 71081 3AH=T T §?
A. Gedt Fferh B. QIfehT ATghIsT

C. e agst D. 3far BRI

Correct Ans: A

Q76. The Regional Centre for Biotechnology (RCB) is an academic institution established by
the Department of Biotechnology, Govt. of India with global partnership with UNESCO. Where
is its permanent campus expected to be located?

A. Hisar B. Faridabad
C. Rohtak D. Mewat

Correct Ans: B



Q76. & argaReTes Feg (RCB) SgdasIrers! AT, XA AWHR a1 UNESCO & uryr 3Ras e #
TG fFaT T U TR TEAT &1 sHHT T 9RAR FEr BUd @1 A Feaar 82

A. BER B. WIgEIG
C. Ugd= D. #ad

Correct Ans: B

Q77. The International Crafts Mela, one of the largest crafts fair in the world, was held in
which place in 2016 ?

A. Rohtak B. Surajkund
C. Karnal D. Jind

Correct Ans: B

Q77. 2016 #, AT F1 va W F31 Aeq AT, FRTET Rew AaT Fet 3mATaT BFay /=24 4r?
A. Ugdh B. §xsiHs

C. FLTel D. Siig

Correct Ans: B

Q78. Chandimandir Cantonment, the headquarters of the Indian Army's Western Command, is
located in which city?

A. Panchkula city B. Chandigarh
C. Morni D. Pinjore

Correct Ans: A

Q78. HRAT U FeT Y AT FAIS FT ATIATAT THATRT Sraeit e et 7 82
A. G BT B. =IgN1g

C. A D. fsfiT

Correct Ans: A

Q79. Karnal was known to be the birth-place of Pakistan's first Prime Minister. Name him.
A. Zulfigar Ali Bhutto B. Liaquat Ali Khan
C. Shauquat Aziz D. Shujaat Hussain

Correct Ans: B

Q79. FIATT NIFEAT & Tgar TaTeT #HA T ST=ATYeN g & v ufdg &1 391 A1 ad |

A. SethehIY 37elT 87eT B. forgrerd 3rell @rer
C. Qe 3rsirst D. el géie

Correct Ans: B

Q80. Which is the second largest city in Haryana?
A. Gurgaon (Gurugram) B. Faridabad
C. Ambala D. Hisar



Correct Ans: A

Q80. RO F quT FaH T37 A FieT W F?

A. T[SITE (I[ATH) B. wIeTaTe
C. 3fTel D. fRER

Correct Ans: A

Q81. Vikas Krishan Yadav from Bhiwani district in Haryana, won a gold medal in the 2010
Asian Games in which sports?

A. Boxing B. Swimming

C. High Jump D. Hockey

Correct Ans: A

Q81. ghamn # frawh e @ fawm Feor aga A 2010 F wrd @t F fFw o F TaviueF siar ar?
A. FFRIETAT B. cRTehr

C. 3 &g D. giehr

Correct Ans: A

Q82. The Nahar Singh Stadium in Faridabad is famous for which sports?
A. Football B. Hockey

C. Cricket D. Kabaddi

Correct Ans: C

Q82. wigEE & A A iEyw Fy @ & Qv aRg &2

A. peeTe B. gThr

C. forhe D. shagsr

Correct Ans: C

Q83. Where is The Technological Institute of Textile and Sciences, established by the Birla
Group, located?

A. Rohtak B. Bhiwani

C. Faridabad D. Sonipat

Correct Ans: B

Q83. faT WHg aRT TR TFaiioTe SEecde 3T CFUCHEH US AISfead Fg1 oUd 82
A. Ugas B. famsir

C. wllerEre D. @eiae

Correct Ans: B

Q84. The District of Kurukshetra is famous for which wildlife sanctuary?
A. Ranthambore Wildlife Sanctuary B. Chhilchhila Wildlife Sanctuary
C. Kalesar National Park D. Khaparwas Wildlife Sanctuary

Correct Ans: B



Q84. Fwar e e aersha Irarvy & faw wflg 82
A. TIIFHR Feasia IR0 B. e ae=gsia 3raroy
C. FTIE T 36Tl D. WA dodaid IR0

Correct Ans: B

Q85. The BILT Football stadium is located in which place in Haryana?
A. Rohtak B. Yamunanagar

C. Faridabad D. Sonipat

Correct Ans: B

Q85. R # BILT Fearar w233 e et # @2

A. Ugd=s B. IHATTIR

C. wiigErg D. Hi=iad

Correct Ans: B

Q86. Where in Haryana would you find Gurudwara Neem Sahib?
A. Bhiwani B. Pinjore

C. Thaneswar D. Kaithal

Correct Ans: D

Q86. &R F JFearT A wiew fFw wew & ua 2

A. Taartr B. fUailk

C. g D. sherer

Correct Ans: D

Q87. Hathni Kund is a concrete barrage built on the Yamuna River, in which District?
A. Yamunanagar B. Palwal
C. Sirsa D. Rewari

Correct Ans: A
Q87. gueit §3 UF Fhic I ¢ ToradT AT Jeqar et o formam aram &1 7% e forer 3 82
A. THATIR B. 9eldel

C. frar D. Yargr

Correct Ans: A

Q88. The Haryana government conferred the Haryana Gaurav Samman award on which
Bollywood playback singer recently?

A. Arijiit Singh B. Nakash Aziz
C. Sonu Nigam D. Abhijit Bhattacharya

Correct Ans: C

Q88. gTel & # FRATVT TFR 7 fry ATeligs waaw s F gRATOM 7RT FFATT [WEFR & FeATfad fmar 32



A. 3R&ha &g B. #AeRTer 3ofier
C. e forara D. 3fshd srgrary

Correct Ans: C

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Gautam Buddha renounced the worldly pleasures to seek enlightenment.
A. stopped B. donated
C. gave up D. forgot

Correct Ans: C

Q90. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Amit managed to collect donation for the charity event, with the help of his bountiful friends.
A. dutiful B. beautiful
C. liberal D. generous

Correct Ans: D

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

I this office last month."
A. will join B. have joined
C. joined D. would join

Correct Ans: C

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Geeta is the girl in the class.
A. most tall B. tallest
C. taller D. more taller

Correct Ans: B

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Ritesh is always ready to help people at the drop of a hat.
A. rarely B. immediately
C. never D. slowly

Correct Ans: B

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.



Knitting a shawl for Lalitha was a piece of cake.
A. very easy B. Confusing
C. difficult D. complicated

Correct Ans: A

Q95. f&er - FAftrs IUYFd req/ AsAl HT TN FIA §U IF T F-

A q@A-3@ AT AF0A A e F &Y TR BT @Y T @) Afher R ot FE 77 7E1 Fg whar o 3Ty
gl
A. IR B. afea

C. ufasr D. @rgd

Correct Ans: C

Q96. fder - FAftre IUYFd 2req/eAsal HT TN I G IFT T F-

framoht agar oft § | g FROT g AT A IAF AR R AsH F AT ____ |
A. furar B. e
C. 3aRT D. Fsiram

Correct Ans: B

Q97. fader - Y@ifa qeray 1 3 vgame
oA F TfieT & AT A1 5 ga dA Y §, a§ 37 Al TeeT T F Y S W @A # |

A. TRATE o FAT B. g €41 &aT

C. ST Al D.agr-rm:rg’lm

Correct Ans: A

Q98. fader - Y@ifhd #gray #1 7S ggar -
mmmmﬁm#mﬁaﬁﬁgé%,mgm_mmw%l
A. 3TEFRT gieT B. ga1s fohet SaTTeTT

C. g THe= el D. #rarfeaRe gler

Correct Ans: A

Q99. fAéer - 4 fAFedl # ¥ R v 2reg F1 TATATH 2reg FdATC -

LS
A. Trer B. 3{Threr
C.ag D. &HA

Correct Ans: A



Q100. & - 4 RAFedl # ¥ R 710 oreg FT wHFQTH 25 T -

ELEY
A. qar B. 3%T
C. R D. da

Correct Ans: A



